XXXII PENYBTMKAHCKA CTYOEHTCKA OTMMNUALA MO NPOTrPAMUPAHE
AYEl, bnaroesrpaga, 09.05.2020

3agaua L. IOBTOPEH HU3

Hanen e uu3 T ¢ pbmwxkuna N, cbCTaBeH OT roJIeMH JIATUHCKU OykBu. Hamuinere mporpama xosiTo na
HaMHpa B HET'O HAW-IBJITHS ITOJHU3, KOUTO CE Cpella OHE JIBa ITbTH.

Bxoa. [IspBusT pen Ha CTAaHAAPTHHS BXOJ] ChIBPKa OpOsi Ha TECTOBETE, KOUTO TMporpamara TpsoBa aa
00paboTu. 3a BCEKH TECT Ha €UH pex e Ob/e 3a1a/ileH HU3BT 1.

M3xon. 3a Bceku TECTOB Ciydail mporpamara TpsiOBa Ja M3BejAe, Ha OTIENEH pel Ha CTaHIapTHHS
U3XO0J, Hal-IbJITUs HAMEPEH MOJHU3. AKO CBIIECTBYBA II0OBEYE OTEIMH IIOAHU3, KOMTO Ce Cpella MoHe
7IBa I'TH B T, mporpamaTa TpsOBa /1a U3BeAe Hall-MalKus JIEKCUKOTPpa(CKU TaKbB HU3.

Orpanuvenns. 9 <N <100000.
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A string T of length N is given, consisting of uppercase Latin letters. Write a program that finds in T
the longest substrings that occur at least twice.

Input. The first line of standard input contains the number of tests cases that the program must
complete. Each test starts consists of a line with string T.

Output. For each test case, the program should output, on separate line of the standard output, the
longest repeated substring in T. If there is more than one string that occurs at least twice, the program
must output the smallest lexicographically string.

Constraints. 9 < N < 100000.



